(> # NOAIE(N=x*) {x ) DFUTZ DEDFEH=N -h 5525 DML by H.E 20-9-17:

1
> ¢ = 0 :for n from 1 to 10000000 do ys := {1} :for i from 2 to ﬂoor(evalf(n 2 ) ) + 1 do
if » mod /2 =0 then ys := ysunion {h, % } fi:od: yks := 0 :for j from 1 to nops(ys)

do yks := yks + ys[ j] :od:if yks mod n =0 thenprint(N(n) D FIFLD 1= yks| n

{kaS H) Af nops(ys) > 5 and nops(ys) mod 5 =Othen for jj from 1

to ﬂoor(M) do print (yk[jj] = Lseq( (501 i1y = ((i—1)-5 + 1) j+5)1) -

5
od fi:if nops(ys) mod 5 # 0 and nops(ys) > 5 then for jj from 1 to ﬂoor( NOpSIYS). ‘;( ) )

do print(yk[ jj1= [seq((ys[j1)[j1,j=((jj—1)-5+1).jji-5)]) :od: print(yk[jj]

seq((ys[j])[j],j=5-ﬂoor(%(ys)) +1 ..nops(ys))D elifnops(ys) <5

then print(yk[1]=[seq((ys[j1)[j),j=1 ..nops(ys))]) fi: print( ) fi:od:
N(1) DFIEDFI=1

vh=[h]

N(6) D FIEDFI= 66 1,
yhy = [lp 2, 33]

N(28) D FIEDFI=28)¢ 1y
Vhy =115 25 43, 7, 145]

N (120) D FIEXDF1=240 5 5
Yoy =111 25, 35 44 55]
Yy =66 87 105, 125,15,
V3 =[20), 245, 30,3, 40,4, 60,5

N (496) D FIEXDFI1 =496 496 (1,
Vhy=[1} 25, 4, 84, 165]
yhy =31 62, 1244, 248, ]

N(672) D FIEDFI= 1344, 5y
yk, = [11’ 2y 3344 65]
V= [T 872 12, 14, 164
yhey = [2111’ 2415, 283,324, 4215]
Vhy= [4816 567, 8415, 96,9, 112
Vs = [168,),224,,, 3365 |

20]




N(8128) D FIEXDFi1=8128¢ 50 (1,
vk = [11; 29 45 8, 165]
Yy = [324 647, 1275, 2549, 508 ]
Vhy=[1016,,,2032,,, 4064, ;]

N(30240) D FIELDFI=907205054 (3,
yk, = [11’ 2,33, 4y, 55]
yk2=[6 72 85 9, 1044

yhy=

(1211 1415, 1513, 1644, 185]
[2016, 2117, 2418, 27,4, 2820]
Yks=1[30,1, 3255, 35,3, 36,4, 40,5]
vks= [4226, 45,,, 48,5, 54,59, 5630]
Yhk; =605}, 6335, 7053, 723, 8054 ]
Vhs = [8434, 9057, 9654, 10535, 1089

Vhy = [1124), 1205, 126, 135, 1405

Vhio = [ 144,44, 160, 168, 180,9, 1895,
Vhyy = [2105), 21655, 22453, 2405, 252
Vhiy = [27054, 2805, 288, 3159, 3364
Vhi3 = [360g,, 3785, 42045, 4324, 4805 |
Vhiy = [ 50444 5407, 560, 63049, 6724

yk = [720,, 75655, 840, 864, 945,5]
6= [ 1008, 1080,,, 1120,4, 1260,, 14404
7= [1512¢;, 16805, 189043, 20164, 216045
= [252044, 30247, 336044, 37805, 43204
5

040,, 6048,,, 75605, 10080,,, 15120

yk [ 93> 94> o5 |

N(32760) D FIELDF1=9828035760 (3,
V= [1} 25 33, 44, 55]
yk2=[6 72 8¢, 99, 10, ]

= [ 12105 1310, 1445, 1514, 185
V= [2016’ 2147, 24,5, 26,9, 2820]
[30515 35255 36,3, 394, 40,5 ]

[ 42260 43275 5258, 5659, 603 |
yhe = [ 31 32’7033’7234’7835]
Vhs = [8434, 9057, 915, 10455, 105,
Vhy = [ 117,41, 1204, 12645, 130, 140,
Vhio = [156 46 16847, 180, 182,49, 19541



yk

vk, =

vk 5=

Vhig = [87296,4. 130944

2104, 234s,, 25245, 2605, 273
280, 3124, 31554, 36050, 364,

= ]
yklz [ ]
[3905, 4205, 4553, 4684, S04
4= ]

520, 5467, 58545, 6309, 728
yk = [780,, 819;,, 8405, 910,,,, 936,
6= [1092;4, 1170, 1260,5, 13655, 15604 ]
2= [1638, 18204, 21843, 23405, 25204 |
5

27304, 3276, 3640, 4095,,, 4680

86° 87 88’ 89 90]

N (523776) D FIECOF = 104755253776
yky = [11’ 25,33, 4y, 65]
vhy =86 115, 124, 164,22,
Vhy =241, 3115, 323, 334, 44 5]
yk - [4816, 62,7, 645, 66,4, 885

1245, 128,,, 132,]

[ 21> 965, 12455,
1

yk6 [176,, 18627, 19255, 2489, 2565 ]
vhy = [2643), 3413, 35253, 3725, 38454
kg = [4965¢, 5125, 52854, 68259, 704, ]
ko= [7444,, 768 15, 9923, 1023, 10565
hyo= [ 13644, 1408,,, 1488 46, 15369, 19845
ki) = [20465), 21125, 27284, 2816, 297655 |
iy = [396854, 40925, 42245, 545659, 56324
ki3 =[5952¢), 7936, 81843, 8448, 109124

[ 119044, 15872¢;, 16368, 1689644, 21824,

66° 67° 68> 69°

77> 1745924, 2618884 ]

N(2178540) D #IELD 1= 6535620578540 (3
yk1= [11, 22, 337 445 55]
Vky =66 77 g, 104, 12 ]

yhey = [1311’ 120 1543, 14,1915]
yhky= [2016’ 21,7, 26,5, 28, 3020]
Yks =331, 365, 23’3924’4225]
yk6=[4526’ 49,7, 5258, 5759, 6030]
yhy = [6331’ 300 1033, 763y, 7835]
Vg =843, 9037, 9134, 9539, 98]

[ 4604, 65529, 81903, 10920y,, 163804]

ol

(238085, 32736,,, 436483, 47616, 65472,4]



yk9= [10541, 11442, 1175, 12644, 13045]
133 147
180

46 14047,
18252, 19055, 1955, 19655

23445, 24559, 247

48’ 49’ 50
51°

= 2104, 228,

= [25241. 26055, 2665, 273, 285
yk1 4= [29% 6 31547, 3424, 3649, 380,
= [390,, 399;,, 420,;, 441, 455,5]
[46876’ 77> 49455, 53240, 54680]
[57081’ Sg2, 98843, 6304, 63785]
[66586, 68487, 73545, 74150, 7804
= [7984,. 819,, 85545, 8824,, 91044]
ka = [93196, 98047, 9885, 109249, 1140, /]
1170, 11974, 123505, 1260, 12745
1330, 136547 1470, g, 14820, 1596,

yk1 ] 490.,., 494

106 107

[

{1638111, 1710, 1, 1729, 13, 1764, ,, 1820,
4= 18621 1911}, 1995, ¢, 2205 0, 2223
[2340,5,, 2394 15, 2470, 2548, 2660, ¢
6= [2730,5 27937, 2940, 55, 2964 50, 31855,
7=
[
o~ |
o~
[

]

108> ]
]

]

]

]

327615, 3420 3, 3458 35, 3705 3, 372454
]

]

]

]

]

3822 5, 3990 5., 4095 50, 441050, 4446,
4655, 4788, ,,, 4940 5, 5187, 5460 5
5586, 46 5733 147> 598545 6370, 40, 6916 5,
7410, 7644, 5,, 7980, 55, 8190 ., 8379 .
ykj [8645, 55 8820, 57, 8892, 55, 9310, 50, 9555, ¢

kyy = [10374161, L1115, 45, 111725, 1146644, 11970, 5

Yy, =[12103

12740, 7, 13965 55, 14820, o, 15561

166 167 168

Vhys = [16380,5,, 16758, 5, 17290, 55, 18620, 19110,

kyy = [ 25935

]
|
]
g = [20748 7, 22230, 7, 22932, 1, 23940, 15, 24206 ]
|
]

279304, 28665, 45, 311224, 33516

181> 182> 183>

kyg = [ 34580, g4 36309, 57, 38220, g5, 41895 55, 44460,
Vhyg = [48412,5,. 518705, 55860, 43, 57330, 9, 60515 o5 ]

Yy
Vkyy =
= [167580,05, 1815457, 217854, 2420605, 311220, ]

Vkyy

= [62244 5, 72618 5. 77805 g, 83790, g5, 103740,
[108927,;, 1146605, 121030,;5, 145236, 155610,

kyy = [ 363090, 435708, 544635, 5, 726180, ,, 1089270,

0y



>



